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Agriculture & Horticulture Exam 2021 
(18.04.2021) 

Mental Ability Questions with Solution 
 

Split up 
 

S.NO Topics No of Questions 

1 Simplification 5 

2 Percentage 1 

3 HCF/LCM 3 

4 Ratio/Proportion 3 

5 Simple Interest & 
Compound Interest 

5 

6 Area/Volume 2 

7 Time & Work 2 
Reasoning 

1 LR, VS, ANR 2 

2 Puzzles 1 

3 Dice 0 

4 Number Series 1 

 
Note: (Arithmetic Proportion Geometric Proportion, Probability, Number 
System included in Simplification)  
 

1. The value of a motor cycle 2years ago was `70,000. It depreciates at the rate of 
4%p.a. Find its present value.  
a. 65312  b. 64312 c. 64512 d. 65412  e. Answer not known 
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 ,U rf;fu thfdk; xd;wpd; tpiy 2 Mz;LfSf;F Kd; 70>000-Mf ,Ue;jJ. 
mjd; kjpg;G Mz;L NjhWk; 4% tPjk; FiwfpwJ. mjd; jw;Nghija 
kjpg;igf; fhz;f.  
a. 65312  b. 64312 c. 64512 d. 65412  e. tpil njhpatpy;iy  
Solution:  

   
96 96

70,000
100 100

   

   Rs. 64512  
 [(Compound Interest) 8th Term II New School Book –Pg.No: 22] 

 
2. A sum of `46,000 was lent out at Simple Interest and the end of 1year and 9 

months, the total amount was `52,440. Find the rate of interest per year. 
a. 5%  b. 6%  c. 7%  d. 8%  e. Answer not known 
mry; ì 46>000 MdJ 1 Mz;L 9 khj fhyj;jpw;Fg; gpwF jdptl;b %yk; 
nkhj;jj; njhifahf ì  52>440-Mf cah;e;jJ vdpy; tl;b tPjk; fhz;f.  
a. 5%  b. 6%  c. 7%  d. 8%  e. tpil njhpatpy;iy  
Solution:  
   I = 52440 – 46000 
   S.I = Rs. 6440 

   S.I = 
100

pnr
  

7
46000 2

46440
100

 
  

    R = 8% 
 [(Simple Interest) 7th Term III New School Book –Pg.No: 42] 

 

3. The cost of a machine is `18,000 and it depreciates at 16
2

3
% annually. Its 

value after 2 years will be 
a. `12,000 b. `12,500 c. `15,000  d. `16,500  e. Answer not known 

Xh; ,ae;jpuj;jpd; tpiy ` 18>000 mJ Mz;Lf;F 16
2

3
% tPjk; Nja;khdk; 

milfpwJ. 2 Mz;LfSf;F gpwF mjd; kjpg;G 
a. `12,000 b. `12,500 c. `15,000  d. `16,500  e.  tpil njhpatpy;iy  
Solution:  

   
5 5

18000
6 6

   

   Rs. 12,500 
   [(Compound Interent) 8th Term II New School Book – Pg.No: 25] 
 

4. The curved surface area of a right circular cone of height 15cm and base 
diameter 16cm is  
a. 60  cm2   b. 68  cm2     c. 120  cm2   
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d. 136  cm2   e. Answer not known  
 15 nr.kP cauKk; 16 nr.kP tpl;lKk; nfhz;l xU Neh;tl;lf; $k;gpd; 
tisgug;G  
a. 60  nr.kP2  b. 68 nr.kP2   c. 120 nr.kP2   
d. 136 nr.kP2   e. tpilnjhpatpy;iy  
 Solution:  

   2 215 8l    

   = 225 64  
   l  = 17 cm 
  C.S.A of cone = rl  
     = 8 17    

     = 136  cm2  

   [(Volume) 10th New School Book – Pg.No: 297] 
 

5. A machine bought at Rs.50, 000 falls in its value by 8% of its value every year. 
Find the value of the machine after 2years.  
a. `40,000  b. `43,220  c. `42,000 d. ` 42,320 e. Answer not 
known 
& 50>000 kjpg;Gs;s xU ,ae;jpukhdJ mjd; tpiyapy; xt;nthU tUlKk; 
8% FiwfpwJ vdpy; 2 tUlq;fSf;Fg;gpd; mjd; tpiy vd;d?  
a. `40,000 b. `43,220 c. `42,000 d. ` 42,320  e. tpil njhpatpy;iy  
Solution:  

   50,000 
92 92

100 100
   

   = Rs. 42,320  
   [(Percentage) 8th Term III Old School Book – Pg.No: 32] 

 
6. A competitive exam paper has 100 questions for which 1 mark will be 

awarded for each correct answer and 
1

2
 mark will be deducted for every 

wrong answer, 
1

4
mark will be deducted for non- answering. Find the total 

mark scored by a candidate who answered 88 questions of which 61 are 
correct.  
a. 61  b. 44.5  c. 44.25  d. 54  e. Answer not 
known 
100 tpdhf;fs; nfhz;l xU Nghl;bj; Njh;tpy; rhpahd tpilaspf;Fk; xt;nthU 

tpdhtpw;Fk; 1 kjpg;ngz; toq;fg;gLfpwJ. jtwhd tpilf;F 
1

2  
kjpg;ngz; 

fopf;fg;gLfpwJ. NkYk; tpilaspf;fhj Nfs;tpf;F 
1

4  
kjpg;ngz; 

fopf;fg;gLfpwJ. xU Njh;th; 88 tpdhf;fSf;F tpilaspf;fpwhh;. mtw;Ws; 61 
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tpdhf;fSf;F rhpahd tpilaspj;jpUf;fpwhh; vdpy; mth; ngWk; kjpg;ngz; 
vt;tsT?  
a. 61  b. 44.5 c. 44.25 d. 54   e. tpil njhpatpy;iy  
Solution  
   Correct Answer = 61 × 1 = 61 
   wrong Answer = 27 wrong  
      = 27 × 0.5  
      = 13.5 

    Unattempted = 
12

4
 = 3  

   Total Mark = 61 – 16.5 = 44.5 Marks 
    [(Number System ) 7th Term I New School Book – Pg.No: 25] 

7. A student can type 21page in 15 minutes. At the same rate, how long will it 
take the student to type 84 pages? 
a. 60 minutes   b. 50 minutes    c. 70 minutes   
d. 45 minutes   e. Answer not known 
xU khztdhy; 15 epkplq;fspy; 21 gf;fq;fisj; jl;lr;R nra;a KbAk;. ,Nj 
Ntfj;jpy;> me;j khztDf;F 84 gf;fq;fs; jl;lr;R nra;a vt;tsT Neuk; 
MFk;?  
a. 60 epkplq;fs;  b. 50 epkplq;fs;  c. 70 epkplq;fs;  
d. 45 epkplq;fs;  e. tpil njhpatpy;iy  
Solution:  

  
15

21 84

x
  

  15 × 4 = x 
  x = 60 min  

   [(Ratio Proportion) 8th Term III New School Book – Pg.No: 33] 
 

8. The breadth of a rectangular field is 60% of its length. If the perimeter of the 
field is 800m, what is the area of the field? 
a. 18750 sq. m.  b. 37500 sq. m.    c. 40000 sq. m.  
d. 48000 sq. m.  e. Answer not known 
xU nrt;tf taypd; mfyk;> ePsj;jpd; 60% MFk;. mt;taypd; Rw;wsT 800 
kP vdpy; mt;taypd; gug;gsitf; fhz;. 
a. 18750 sq. m.  b. 37500 sq. m.    c. 40000 sq. m.  
d. 48000 sq. m.  e. tpil njhpatpy;iy  
Solution:  
  Length : Breadth  
  10x  : 6 x  
  2(l+b) = Perimeter  
  2(10x+6x) = 800  
   32x = 800  
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   x = 
800

32
 

   x = 25  
  Length Breadth  
  250      : 150m  
 Area : 250 × 150  
  = 37500 m2 
      [(Area)  R.S. Agarwal Book – Pg.No: 701] 
 

9. Find the G.C. D. of the following: 
5 3 4 2 3 2 235 ,49 ,14x y z x yx xy z  

a. 2 2 27x y z  b. 7xyz  c. 5 3 414x y z    d. 27x y z  e. Answer not known 

kP.ngh.t. (G.C.D) fhz;f.  
5 3 4 2 3 2 235 ,49 ,14x y z x yx xy z  

a. 2 2 27x y z  b. 7xyz  c. 5 3 414x y z    d. 27x y z  e. tpil njhpatpy;iy  

Solution:  
  35x5 y3 z4  
  49 x3y z3  
  14x y2 z2  
  H.C.F (or) GCD = 7xyz2 

     [(LCM & HCF) 9th  New School Book – Pg.No: 115] 
 

10. 10% of 5 and 5% of 10 add upto  
a. 0.10   b. 0.25 c. 1.0  d. 2.5  e. Answer not known  
5-d; 10% kw;Wk; 10-d; 5% Mfpatw;wpd; $Ljy;  
a. 0.10   b. 0.25 c. 1.0  d. 2.5  e. tpil njhpatpy;iy  
Solution:  

  
10 5

5 10
100 100

    

  
10

1
10

  

     [(Percetage) 7th Term New School Book – Pg.No:] 
 

11. A can do a piece of work in 20 days and B can do it in 30 days.  How long 
will they take to do the work together? 
a. 15  b. 12  c. 20  d. 25  e. Answer not known 
A vd;gth; xU Ntiyia 20 ehl;fspYk; B vd;gth; mNj Ntiyia 30 
ehl;fspYk; nra;J Kbg;ghh;fs;. mt;tpUtUk; Nrh;e;J mt;Niyiar; nra;J 
Kbf;f vj;jid ehl;fs; MFk;?  
a. 15  b. 12  c. 20  d. 25  e. tpil njhpatpy;iy 
Solution:  
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1 1

20 30
  

  = 
3 2 5 1

60 60 12


   

  12 days  
    [(Time & work) 8th Term III Old School Book – Pg.No: 42]
   

12. A can do a piece of work in 8 days and B can do the same piece of work in 12 
days.  A and B together complete the same piece of work and get `200 as the 
combined wages.  B’s share of the wages will be 
a. ` 75  b. ` 80  c. ` 85 d. ` 90 e. Answer not known 
xU Ntiyia A, 8 ehl;fspy; nra;J Kbg;ghh;. mNj Ntiyia Kbf;f B-
f;F 12 ehl;fs; MFk;. me;j Ntiyia A kw;Wk; B ,UtUk; Nrh;e;J Kbj;J 
ì 200 ia xUq;fpize;j Cjpakhf ngw;why; mjpy; B-f;fhd Cjpak; 
a. ` 75  b. ` 80  c. ` 85 d. ` 90 e. tpil njhpatpy;iy 
Solution:  
   A : B  
   8 : 12 
  Time 2 : 3  
   Efficiency 3 : 2  
  5x → 200 
  Rs. 80  
      [(Time & Work) R.S. Agarwal – Pg.No: 532] 
 

13. The highest number which divides the product of any three consecutive even 
natural number is 
a. 2  b. 4  c. 8  d. 16  e. Answer not known 
mLj;jLj;j %d;W ,ul;il ,ay; vz;fspd; ngUf;fiy tFf;Fk; kpfg;nghpa 
vz;  
a. 2  b. 4  c. 8  d. 16  e. tpil njhpatpy;iy  
Solution:  
   2n (2n+2) (2n+u)  
   If n = 1 
   Profict = 2(u) 96) = 48 
 Which is the least number always divisible by 48.  
      [(Number System) R.S Agarwal Model] 
 

14. When two dice are rolled the number of outcomes of getting the sum of the 
faces equal to 8 is? 
a. 4  b. 5  c. 6  d. 7  e.  Answer not known 
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,U gfilfs; cUl;lg;gLk;NghJ mtw;wpd; Kf kjpg;Gfspd; $Ljy; 8-Mf 
,Ug;gjw;fhd tha;g;Gfspd; vz;zpf;if  
a. 4  b. 5  c. 6  d. 7  e.  tpilnjhpatpy;iy  
Solution:  
  n = (2, 6) (6, 2) (3,5) (5,3) (4,4)  
   n = 5  
   [(Probability) 10th New School Book – Pg.No: 331] 
 

15. The probability a red marble selected at a random from a Jar containing p 
red, q blue and “r” green marble is  

a. 
q

p q r 
  b. 

p

p q r 
  c. 

p q

p q r



 
  d. 

p r

p q r



 
 

e. Answer not known 
p - rptg;G> q- ePyk;> r- gr;ir epwf; $ohq;fw;fs; cs;s xU FLitapy; ,Ue;J 
xU rptg;Gepw $ohq;fy; fpilg;gjw;fhd epfo;jfthdJ  

a. 
q

p q r 
  b. 

p

p q r 
  c. 

p q

p q r



 
  d. 

p r

p q r



 
 

e. tpil njhpatpy;iy  
Solution:  
  Red = p 
  Blue = q 
  Green = r  

 
( ) Re

( )
( )

n a d p
P A

n s Total p q r
 

 
 

   [(Probability) 10th old  School Book – Pg.No: 304] 
 

16. The largest four digit number which when divided by 4, 7 and 13 leaves a 
remainder 3 in each case is 
a. 9138  b. 9318 c. 9381 d. 9831 e. Answer not known 
4, 7 kw;Wk; 13 Mfpa xt;nthU vz;zhYk; tFgLk; nghOJ kPjp 3-I 
juf;$ba kpfg;nghpa ehd;F ,yf;f vz; 
a. 9138  b. 9318 c. 9381 d. 9831 e. tpil njhpatpy;iy  
Solution:  
  L.C.M of 4, 17, 13 
   4× 7 × 13 = 364 

        

9999

171

9828

  

         
 
Ans: 9831 
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      [(L.C.M / H.C.F ) R.S. Agarwal – Pg.No: 60] 
                    

17. Find the LCM of pair of the following polynomials  x4  -27 a3 x, (x - 3a)2 , 
whose  GCD is (x – 3a) 
a. x(x– 3a)2  (x2 -3ax+9a2)  b. x(x+ 3a)2  (x2 +3ax+9a2) 
c. x(x- 3a)2   (x2 +3ax-9a2)  d. x(x -3a)2   (x2 +3ax+9a2) 

e. Answer not known 
x4  -27 a3 x, (x - 3a)2 ,tw;wpd; kP.ngh.t. (x – 3a) vdpy; kP.ngh.k.  
a. x(x– 3a)2  (x2 -3ax+9a2)  b. x(x+ 3a)2  (x2 +3ax+9a2) 
c. x(x- 3a)2   (x2 +3ax-9a2)  d. x(x -3a)2   (x2 +3ax+9a2) 
e. tpil njhpatpy;iy  
Solution:  
  (x) × g(x) = LCM × HCF  
  x4 – 27a3x × (x – 3a)2 = L.C.M. × (3x – 3a) 
  x4 – 27a3x × x – 3a  
  x(x3 – 27a3) × x – 3a 
  (x) (x – 3a) (x2 = 3ax = 9a2) × (x – 3a)  
  x (x – 3a)2 (x2 + 3ax + 9a2)   
    [(L.C.M / H.C.F) 10th New School Book – Pg.No: 97] 
 

18. If z = 52 and ACT = 48, then BAT will be equal to 
a. 39  b. 41  c. 44  d. 46  e. Answer not known 
z = 52 kw;Wk; ACT = 48 vdpy; BAT = ?  
a. 39  b. 41  c. 44  d. 46  e. tpil njhpatpy;iy  
Solution:  
  Z = 52 
  Z = 26 × 2 
 Codes are doubled  
  B A T  
  ↓   ↓ ↓  
       2+1+20 = 23 × 2 = 46 
   [(Reasoning) R.S Agarwal - Coding decoding Model] 
 

19. M5E$RB3AK7#9$UDIN4%FH2@8W.How many such consonants are there in 
the above sequence each of which is immediately followed by a number and 
immediately preceded by a vowel. 
a. One  b. Four c. Three d. Two e. Answer not known 
M5E$RB3AK7#9$UDIN4%FH2@8W 
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NkNy cs;s njhlhpy; cs;s cWg;Gfspy;> me;j cWg;Gf;F Kd;dhy; xU 
capnuOj;Jk; me;j cWg;igj; njhlh;e;J xU vz;Zk; tuf;$ba 
nka;naOj;Jf;fspd; vz;zpf;ifia fhz;f.  
a. xd;W  b. ehd;F c. %d;W  d. ,uz;L   e. tpil njhpatpy;iy 
Solution:  
  M5E$RB3AK7#9$UDIN4%FH2@8W 
 Ans: 2  
      [(Reasoning) Alphanumeric Series - Model] 
 

20. If Karkuzhali earns ` 1,800 in 15 days, then she earns  3,000 in________ 
a. 25  b. 20  c. 15  d. 10  e. Answer not known 
15 ehl;fspy; fhh;Foyp ì 1>800-I tUkhdkhfg; ngWfpwhh;. vdpy; ì 3>000-I 
__________ ehl;fspy; tUkhdkhfg; ngWthh;.  
a. 25  b. 20  c. 15  d. 10  e. tpil njhpatpy;iy  
Solution:  

  
15 x

1800 3000
  

  x = 25  
  [(Ratio Proportion) 6th Term I New School Book – Pg.No: 72] 

 
21. 10 lakh candidates write the TNPSC Exam this year.  If each exam centre is 

allotted with 1000 candidates.  How many exam centres would be needed? 
a. 100  b. 1000 c. 10000 d. 100000 e.  Answer not known 
10 ,yl;rk; Njh;th;fs; ,t;thz;L TNPSC Njh;T vOJfpd;wdh;. xt;nthU 
Njh;T ikaj;jpYk; 1000 Njh;th;fs; Njh;T vOjpdhy; vj;jidj; Njh;T 
ikaq;fs; Njit?  
a. 100  b. 1000 c. 10000 d. 100000 e.  tpil njhpatpy;iy  
Solution:  

  
10,00,000

1000
 

  = 1000 exam centers needed  
  [(Direct Proportion) 7th Term III New School Book – Pg.No: 32] 
 

22. 2, 4, 12, 48, 240, ……... 
a. 960  b. 1440 c. 1080  d. 1920 e. Answer not known 
2, 4, 12, 48, 240, ……... 
a. 960  b. 1440 c. 1080  d. 1920 e. tpil njhpatpy;iy  
Solution:  
  2, 4, 12, 48, 240  
  2 × 2 = 4 
  4 × 3 = 12 
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  12 × 4 = 48 
  48 × 5 = 240 
  240 × 6 = 1440  

       [(Numberseries)R.S. Agriwal – Pg.No: 878] 
 

23. In a theatre, there are 20 seats in the front row and 30 rows were allotted. 
Each successive row contains two additional seats then its front row. How 
many seats are there in the last row? 
a. 58 seats b. 78 seats  c. 98 seats  d. 108 seats  e. Answer not known 
xU rpdpkh muq;fpd; Kjy; thpirapy; 20 ,Uf;iffSk; nkhj;j 30 
thpirfSk; cs;sd. mLj;jLj;j xt;nthU thpirapYk; mjw;F Ke;ija 
thpiria tpl ,uz;L ,Uf;iffs; $Ljyhf cs;sd. filrp thpirapy; 
vj;jid ,Uf;iffs; ,Uf;Fk;?  
a. 58 thpirfs;    b. 78 thpirfs;   c. 98 thpirfs;  
d. 108 thpirfs;   e. tpil njhpatpy;iy   
Solution:  

  n = 1
l a

d

 
 

 
 

  30 = 
20

1
2

l  
 

 
 

  58 + 20 = l  
  78 = l  

     [(A.P/G.P) 10th New School Book – Pg.No: 62] 
 

24. Find the difference between Simple Interest and Compound Interest for a 
sum of `8,000 lent at 10% per annum in 2years. 
a. ` 60  b. ` 70  c. ` 80 d. ` 90 e. Answer not known 
ì 8,000 -f;F 10% tl;b tPjk; vdpy; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L 
tl;bf;Fk; jdp tl;bf;Fk; cs;s tpj;jpahrj;ijf; fhz;f.  
a. ` 60  b. ` 70  c. ` 80 d. ` 90 e. tpil njhpatpy;iy  
Solution:  

  Difference in 2 years = 
2

2100

PR
 

     
8000 10 10

100 100

 



 

 Difference = Rs. 80 
   [(Compound Interest) 8th Term III Old School Book – Pg.No: 28] 
 

25. If 
3 4

,
5 7

a b

b c
   then a: b: c is  

a. 12: 20: 21  b. 12: 20: 35  c. 15: 28: 35  d. 28: 20: 12 



 

11             APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

e. Answer not known 
3 4

,
5 7

a b

b c
 

 
vdpy; a: b: c   vd;gJ  

a. 12: 20: 21  b. 12: 20: 35  c. 15: 28: 35  d. 28: 20: 12 
e.  tpil njhpatpy;iy  
Solution:  

  
3

5

a

b
  

  
4

7

b

c
  

 a : b : c 
 3 : 5  
      4 : 7  
12 : 20 : 35  

    [(Ratio Prportion:  Model) R.S. Agarwal ] 


